1} A car traveling 60.0 km/k iz 25.0m from a barrier when the driver
slams on the brakes. The car hits the barrier 2.00 s later. {a) What is the
car's constant deceleration before impact? (5 pts) (b) How fast is the car
traveling at impact? (5 pts)
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2) A ball rells horizontally off the top of a stairway with a speed of
1.6m/s. The steps are 20em high and 20 o wide. If one defines the Brst
step to be the first one down, which step does the ball hit first? Show a
picture in addition to the calculations.
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. 3) In the Flgure shown below, blocks A and B’ have weights of 44 N and
22 N, respectively. {a) Det.ermme the minimurn weight of block C to keep-
A from sliding if p, between A and the table is 0.20. (5 pts) (b) Block C
suddenly is lifted off A. What is the acceleration of block A if uy between A
and the table is 0.15. (5 pts)
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